(A)

IS strain [
120
— 100 ] ] {7} |
X
> 80
[
Q
g_ 60 —o—TTA
ot —a-TTT
= 40
S
x 5 ;
0 T . T . T . T ._l
1 6 10 14 18 22 26 30
Generation
IS strain II
120 -
- 100 - ] ] {7} |
=
> 80 -
[
[<})
S 60 - —o—TTA
o
g .0 —a-TTT
S —4—TCA
x 50 - ;
O = T . T . T . T ._l
1 6 10 14 18 22 26 30
Generation
IS strain III
120 -
= 100 - i ] {7} |
s
> 80 -
[
[<})
S 60 - —o—TTA
o -
& 40 - T
> —+—TCA
x 50 - ;
0 = T . T . T . T ._l
1 6 10 14 18 22 26 30

Generation




(B)

MS strain [
120 -
~ 100 -
S
> 80 -
[
[})
S 60 - ——TTA
o
£ 4 —a—TTT
S —+—TCA
x< 50 - ;
O .
1 6 10 14 18 22 26 30
Generation
MS strain 11
120 -
~ 100 -
s
>
> 80 -
o
S 60 - ——TT
o A
o
= 40 - —a-TT
1
S T
& 20 - ;
O _
1 6 10 14 18 22 26 30
Generation
MS strain III
120 -
~ 100 -
s
> 80 -
[
g 60 - ——=TT
o A
o
v 4] —=-TT
S T
X

N
o

o

1

6

10

IS

14 18
Generation

22

26

30




©

NS strain |

——TTA
—&-TTT
—4—TCA

100 ~

T T T T T T T T T
O 0O 0O 0O 0O o o o
O 0O ™~N O N - MmN -

(%)Aouanbauy ipy

Generation

NS strain II

——TTA
—&-TTT
—4—TCA

100 -

T T T T T T T T T 1
©O O OO OO0 O o o o
A O N O© WM I MmN

(%% )Aouanbauiy upy

14 18 22 26 30
Generation

10

T

——TT
—==TT

NS strain III

T T T T T T T T T 1
O OO 0O OO0 OO o o
A O RN O WL I O A

100 -

(%% )Aouanbauy 1py

14 18 22 26 30
Generation

10




